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#include <stdio.lv>
int imax({int,int}, (—(lj
main(} {

int vall,val2;

int max=imax(vall,val2},

......

}
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6. LUFEC ST AFIMTE (RN (15%)
(1) information hiding (42,75 public, protected, private, friend) :
(2 ) template
( 3 ) overloading {{U-& operalor overloading )
B recursive Z S UBILRALKIM (GCD)Y 2198 (1 0%)
{HAINAND IR —{@ 1 BIT 2 binary counter.(F{! boolean lunction {8711 sum
of product, i A FE NG AR =M NAND gate)(5%)
9. Please bric{ly describe the relationship among Abstract Data Types, data

structures, and a programming language such as C or C++. (5%)
10. Please illustrate the creation of a heap of size 8 from (he original file {10%)
25 57 48 37 12 92 86 33
11, We define the type of a poinler and a node by
struct node {
int info;
struct node *next;
b
typedef struct node *NODEPTR,;
Pleasc write a routine concat{&list], &ist2) (hat concatenates two lists; that is, it

appends the circular list pointed (o by list2 te the end of the circular list pointed to
by listl.

void concal(NODEP TR *plistl, NODEPTR *plist2)
,[ .



